GENERAL SCIENCE MOST IMPORTANT QUESTIONS / SAMPLE PAPER 10

Q1. Optical fibre works on which of the following principle of light?
Sifftedd BER T & Fofafed # 3 f&a g ® a1 avar 872

A. Reflection /ufafds

B. Refraction /31qadd

C. Diffraction /faad=

D. Total internal reflection /$a 3ridRe ufdfds
An optical fiber or optical fibre is a flexible, transparent fiber made by drawing glass or
plastic to a diameter slightly thicker than that of a human hair.
Optical fibers are used most often as a means to transmit light between the two ends of the
fiber and find wide usage in fiber-optic communications, where they permit transmission
over longer distances and at higher bandwidths (data rates) than wire cables.
Optical fibre uses the principle of total internal reflection to the propagation of the light or
data.
U Jfifledhed HBIgsR AT 3fifedhd HIeaR Uh detal, TRe:ff BreR & St & a1 WTiRed &) HIFd §Tcf ol
T H 23T HieT oo # WiaeR a9 ST gl
FTfehel HIER T IUTNT TR BIeR F &l R & i geprer Tamia A 3k BreaR-3ifies TR &
STUS IYYNT Wi & AL & F H BT ST 8, S8 § aR ST o g1 § wiell I 3R 37 dsfdgy
(3T RN) R T=ROT Y Irgafa 2 B
JTfedhct HIZER WHTLT TT 3T & YR & foiw quf sriale wrad= & fagia &1 3uahT &ar 2|

Q2. Which one of the following is a bad Thermal Conductor?
fRofafad 3 o9 v e iy I1as 872

A. Aluminium /vegfafaaa

B. Copper /dtaT

C. Glass /@<

D. Silver /aid}
Glass is a bad conductor of heat. It doesn’t allow the flow of electrons easily from atom to
atom, as seen in substances like copper, and other metals which are excellent conductors of
both heat and electricity.
S FHT BT HATclD & | & WHTY] A WHT] 7P Seidgi=1 P UdTg ol AT el aar 8, ST fb aid ek
37 argait A geref & At Srar & S mf SR fasrett Nt & Iepe daresd §

Good conductors Bad conductors

Nail (iron) Wool
Wire (copper) Wood
Paper clip (iron) Rubber
Scissors (iron) Plastic

Pencil lead (graphite) | Vinegar

Drinking water Honey

Lemon juice Fuel

Milk Distilled water
Mercury Glass
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Q3. Which amongst the following is not a Cation?
frafafad # 3 o v g e 78 82

A. Aluminium ion /Tegfafagw smoa

B. Copper ion /&IQR 304

C. Sulphate ion /&cthe 3o

D. Zinc ion /fSi& 3ma
Only sulphate ion gains electrons to form an anion.

T Gelhe T T I & fAT STl B UTed &7 &

Q4. In a majority of flowering plants, out of the four megaspores, what is the ratio of
functional and degenerate megaspores?
IgERegd gy gieit &, IR AmEieuget #§ A, faras otk ufad A & SrguTd e gar 82
A 22
B. 1:3
C. 31
D. 4.0
At least one of the spores develop into haploid female gametophytes thus making the ratio
of functional and degenerate megaspores is 1:3.
et § A &7 A FH TS O HIeT grdiige # fAafaa g arar @ food srafars otk ufaq
PTROR T 3UTA 1:3 & ST 8

basic types of tissue(s).

A. 4000
B. 400
C. 40
D. 4
There are four types of basic tissues present in the body of all complex organisms :
Epithelial Tissue
Connective Tissue
Muscular Tissue
Nervous Tissue
Tuft Sfect Shal & RR & IR ISR & T Sdd His &1 8
SUDHAT Sdh
HUSAT SeD
9T Fad
T & o
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Q6. Anaemia is caused because of deficiency of which of the following?
ot g & O fead & S gar g

A. Cobalt /®ieTee

B. Iron /®eTee

C. Sodium /af3gw

D. Calcium/&feram
Anemia is a decrease in the total amount of red blood cell or haemoglobin in the blood
which is further a result of deficiency of iron in the blood.
AT &6 & AT 76 HIAST AT EATAIST 6 Fof THT § HHY & ST 3T 376 B 3R &Y Y FT
gRome 21

ANEMIA NORMAL

Q7. What is the name of a group of similar cells performing a specific function?
fafere &1 a= aTeft Ta SIAHTSN & THE BT 19 9T 272

A. Tissue /3d®

B. Organ /3T

C. Organ system /3T YoITe!

D. Cellular organization /ddeR |6
A group of similar cells performing similar functions is known as tissues. It is a cellular
organizational level between cells and a complete organ. Animal cells and plant cells can
form tissues, like muscle tissue.
A B R AT THAT BIHABTSN & THE T el Bel ST & Tg HABT3NT 3R T quf 31 & &I
TS Ve TSATHS TR 1 U BIAGNY 3R Urey SIASY A0t Fas HI RE Fad a1 Tad! &

Q8. Plant tissues are of how many types?

UTey Fdd fhdd TR & gla 872
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A 3
B. 2
C. s
D. 6
A 4 ) l \4
Dermal Tissue ]\Ground Tissue | Vascular Tissue
e——— 1’.‘-& ) OE‘
Epidermis A";‘
i H]
ot
oS
ENAG N g =
Stomata Sclerenchvma Phloem
LIVING CELLS IN PLANTS DEAD CELLS IN PLANTS
parenchyma sclerenchyma
collenchyma xylem tracheids,
xylem parenchyma xylem vessels
phloem parenchyma xylem fibres
companion cells, sieve tube phloem fibres

Q9. Which among the following is not a connective tissue?
fufafad & & o Tas Sds T8 872

A. Blood /g7

B. Bone/ggl

C. Skin /T

D. Cartilage /3urf®
Connective tissue (CT) is one of the four basic types of animal tissue, along with epithelial
tissue, muscle tissue, and nervous tissue. It develops from the mesoderm. Connective tissue
is found in between other tissues everywhere in the body, including the nervous system.
Skin is not a connective tissue.
LIS Fdd (HIE) ITFHAT Fas, THARATT & Fdd! 3R dfFeT FHde & TTT-ATT U Fdd & IR
aTdl Rt # O e 81 gE AteH O fasfAd glar 81 dfAer a7 afed (R § & SiE 3 Fad! & |
AT el UTT ST 8| el Ueb AT FHeieb 781 8

Q10. Which of the following is responsible for giving colour to human skin?
fRufafia & @ o oHe @@ 1 31 33 & fav Sm@er 872

A. Luciferin /afatRT

B. Haemoglobin /&mraifaT

C. Flavonoids /TwdHIgsd
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D. Melanin /8afaq
Melanin is the pigment that determines skin colour as well as hair and eye colour. It is
produced by skin cells when they are exposed to the sun. The more sun exposure, the more
melanin is produced.
T auie & S 9T & O1 & Ary-T1 q1et 3R a1t & 71 ot ofY Ruffa a=ar 21 vg = Sif s
erT FRfifa 11 @ 99 3 g & dudh o 31ma &1 fodaT 31fds g &1 Tudhs, 3T & 31 AR &7 Ieared
g 8]

Q11. A racing car has a uniform acceleration of 4 m s™ What distance will it cover in 10 s
after start?
Teh I HR BT UHHHAM @RUT4 m s &1 Y & & &1 Tg 10 Vb3 H fhal gft a7 aft ?

) 200m
) 100ms™
)

o QL

50m
d) 300ms™
Solution: Initial velocity (u) = 0 ms™

N

Acceleration (a) = 4 ms™
Time period (t) =10 s

s = ut+1/2 at’

s = 0x10s + 1/2 (4ms™) (10s)’
S =200m

Q12. What are the two kinds of Rotatory motion?
Hufa 1fa & S UR T 82

A. Spin and Vibrational motion /Ra= 3iR Fu= nfa

B. Spin and Orbital motion /Rd= 31k FefiT nfa

C. Spin and Translatory motion /Rg+ 3R giaaedt AIvE

D. Spin and Projectile motion/fRa 3k g&ar nfa
A rotation is a circular movement of an object around a center of rotation. A three-
dimensional object can always be rotated around an infinite number of imaginary lines called
rotation axes. If the axis passes through the body's center of mass, the body is said to
rotate upon itself, or spin. A rotation about an external point, e.g. the Earth about the Sun,
is called a revolution or orbital revolution.
T GUi- T guid &g & IRT 3R faft o &1 v MATHR STela 81 Ua fA-3mamdt axg & gierm 3
T § STeufe RaT3i & IRT 3R GATHT ST THdT & fol Yui- 3781 HeT ATdT 8| T g ¥R & goud
g T ElaR oRAT 8, A BT ST & o RR 319 3179 YT ], 1 9T 81 U a1ed g F IR A wh
MM, 3T gF & IRY 3R gedt, ufkeraor a1 wefta afeaor seard

Q13. Who proposed five kingdom classification?
Ui ATHTST Jiiaor &7 Tdra foaa faar?
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A. Earnst Mayr /3= ATTRY

B. R.H Whittaker/3mR wa fegdax

C. M. W. Beijerinck/tH. Sy, Soffid

D. I. lvanovsky /31. 3Ts. SaIeeh
The five kingdom classification was proposed by R.H. Whittaker in 1969. The five kingdoms
were formed on the basis of characteristics such as cell structure, mode of nutrition, source
of nutrition and body organisation. It includes Kingdom Monera, Kingdom Protista, Kingdom
Fungi, Kingdom Plantae, and Kingdom Animalia.
Ui 341 ST aHfaur 1969 H 3TR.T. fogea gRT URaTfad fovam wam o) gie Issl &7 76 SIfIeT e,
TryoT T Y, gryor & G ik iR Fmed S fadwarst & smar w g war o7 sud sy W,
fomey wifewer, fémew werft, few wre ok e vfafdar enfare

Q14. Which of the following is most important for absorption of heat radiated from the Sun
as well as from the Earth?

fofafad & T o g I ik a1y € gedl @ Reem arelt F7 & @iy & v g8 Agagof 272

A. Carbon dioxide/&TsH ST3TTATES

B. Oxygen /3tTeRfts

C. Carbon monoxide /&Tad AIITRATSS

D. Nitrogen /ATggio
Carbon dioxide is a colorless gas with a density about 50% higher than that of dry air.
Carbon dioxide is a greenhouse gas, absorbing and emitting infrared radiation at its two
infrared-active vibrational frequencies (see the section "Structure and bonding" above). This
causes carbon dioxide to warm the surface and lower atmosphere while cooling the upper
atmosphere.
FTE STEINTFRATES U TTEN 119 & FHAST I 5 §aT B JoAT § @A 50% 3MfAF §| Hra
STE3NTTATSS TP WHEI3H 119 8, Sff 370+ &F $IpRS-AfhT U Tgfidl W 3raweh fafdwor o7 sraenfad
3R IS aRedY & (W "TREAT 3R FU" YT ) | TE HIE STSINFRATSS Y HUN ATHSH &Y S8T
R gV Tag 3R e aTaTaRor & TH dRA BT HROT ST 2

The Greenhouse Effect

Some solar radiation
is reflected by the Some of the infrared radiation
4 Earth and the passes through the atmosphere.
‘ I atmosphere. Some is absorbed and re-emitted
in all directions by greenhouse
‘ gas molecules. The effect of this
is to warm the Earth’s surface
> and the lower atmosphere.

Most radiation is absofbed
by the Earth’s surface

: Infrared radiation
and warms i

is emitted by the
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Q15. Which among the following has segmented body?
fofafed 4 3 fdas iR A Hs8?

A. Phylum Mollusca/®TgeTH HIATHT

B. Phylum Arthopoda /W®TseT® TdTgTsT

C. Phylum Annelida /®Tsed TAfaer
D. Phylum Coelenterata /BTgeTH ST

e gt
-

Qi6. Synapse gap is present between which of the following?
fafafed # & fead & @ e o digg 872

Two neurons /&l TR=T

Brain and Spinal Cord /ARAs 3R g &1 &3

Two Kidneys /ar &

D. None of these /&8 & &I &1

In the nervous system, a synapse is a structure that permits a neuron (or nerve cell) to pass

N>

an electrical or chemical signal to another neuron. The minute space between the cell
membrane of an axon terminal and of the target cell with which it synapses.

AT @7 §, T AW v W1 € S U IR (1 dFRS HIfAPT) T ik 2R & gl a1 amafis
T TR Y Y gt 3 ¥ srerq i B SRS Rieet 3k weT FfRNT F f 37 e @7
T fos ary ag s g gl

Q17. Blood Circulation was discovered by?
Teh URFEROT &7 &St fhdd gRT 1 178 12

A. Mary Anderson /3 T&a

B. Virginia Apgar /aSiiAaT STaTR

C. William Harvey /fafagw grd

D. Robert Feulgen /T&¢ WA
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William Harvey was an English physician who made seminal contributions in anatomy and
physiology. He was the first known physician to describe completely and in detail the
systemic circulation and properties of blood being pumped to the brain and body by the
heart.

faferaw g1d v s Rifdcas 3 o ik == faam ik ok fagm # Hifas gmer e a8 uga
F1d RIfecas & =2 gt e T 3R fadR @ woreina aReE=Ror 3R &6 & 101 & geT gRT ARd
3R 18R # Uy fasar T 78T ATl

Q18. Which organ has finger like outgrowths which are called as Villi (Singular Villus)?
T 3T STfrt & T gf g & R el (Rivger fere) et Smem 22

A. Large Intestine/sst afid

B. Bladder /71T

C. Small Intestine /&1t 3tid

D. Stomach /g¢
Villi are specialised for absorption in the small intestine as they have a thin wall, one cell
thick, which enables a shorter diffusion path. They have a large surface area so there will be
more efficient absorption of fatty acids and glycerol into the blood stream.
el BIE a1 & sraeiyor & faw fafde € a9ifd 396 v uaet dar A 8, we Sifer 11 8t 2,
ST Ueh BIS TR UL &1 HEH el 8 37D U Ueb 93T Hdlg &7 ¢ $ATAT ob Uate # et ufds sk
TARIe &1 MfYS HUA TGV ENTT

LUMEN OF SMALL INTESTINE

Q19. Which of the following is not a vector quantity?
fofalRaa 3 3 o9 ve afer fer & &2
Acceleration /aRur
Electric current /fag]d vaTe
Force /de1
D. Velocity/am
All except electric current are vector quantities. It may seem that current is a vector because

nw >

it have a magnitude and a direction. But the thing is, a vector always obey the law of
addition of vectors. Since current doesn't obey it and it follows algebraic addition, current is
a scalar.

el uRT & Bigaw Tt Tfer Afat &1 @r @ Tdhar & 6 e v daer § Fuifes god aftwor ek

o gl &1 A a1 Tg & 1 v Tfeer gnem afeedt & 9 & fAaw &1 utes aRaT €1 fe oie sTeT
T e} T & 3R T8 ST Sg BT SRR0T AT §, die U Jrfeer Afy B
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Q20. The phenomena of raising the outer edge of the curved roads above the inner edge to
provide necessary centripetal force to the vehicles to take a safe turn s called _____ .
areql o1 Jfad Al @ & faw smasgs 1fAdg 9 e A & flt gHTaER T5d! & aT8st fhar &t
SRS fFIR A FW IS H geAT oY _____ HET AT &

A. banking of roads /ds®! & dfd

B. cornering of roads / ¥g&! &1 HIS

C. elevation of roads / ¥g&! &1 IdT

D. tempering of roads / ¥ga! &1 crafiT
The phenomenon of raising outer edge of the curved road above the inner edge is to provide

necessary centripetal force to the vehicles to take a safer turn and the curved road is called
Banking of Roads.

YHTEER TSH $ 184 fHaR a1 fialt fHaR & IR I8 $f "eT argHl & Jad 115 o & faiv saas
SIS I Y& AT & 3R GATIER TASH BT 9IS 371 IS HET ST ¢
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